Field of Glory -

Score Calculation Chart

| )
6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24
00 ] 00| 100 | w00 ] 100 | 100 | w00 ]| w0 ] 100 ]| 00| 100 | 100 | 100 ] 100 | 00 | 100 | 100 | 100 | 100
1 8.3 86 8.8 89 9,0 9,1 9,2 9,2 9.3 93 9.4 9.4 94 95 95 95 9,5 96 96 1
2 8.7 7.1 75 7.8 8,0 8.2 8,3 8,5 8,6 87 8,8 88 8,9 89 9.0 9,0 9,1 9,1 9,2 2
3 5.0 57 6,3 67 7.0 73 7.5 7.7 79 8,0 8,1 8,2 8,3 8.4 8,5 8,6 86 8.7 8.8 3
4 33 43 50 56 6,0 6.4 6,7 6,9 7.1 73 75 76 7.8 7.9 8,0 8,1 82 8,3 83 4
5 1T 29 3.8 4.4 50 55 538 6,2 6.4 6.7 69 71 7.2 74 75 76 L 7.8 7.9 5
[] 0,0 14 25 3,3 4,0 45 5,0 54 57 6.0 6,3 6,5 6,7 6.8 7.0 7.1 7.3 7.4 7.5 6
7 0,0 13 22 3.0 36 42 4,6 50 53 56 5,9 6,1 6.3 6,5 6,7 6,8 7.0 7.1 7
8 0,0 1,1 20 2,7 33 38 43 47 50 53 56 5.8 6,0 6,2 64 6,5 6,7 8
9 00 1,0 1,8 25 3.1 36 4,0 44 4.7 5,0 53 55 57 59 5,1 6,3 9
10 00 0,9 17 23 29 33 38 41 44 47 50 5.2 55 57 58 i
11 0,0 0.8 15 2.1 27 3,1 35 39 42 45 4.8 50 5,2 54 "
0,0 0,8 14 20 25 29 33 37 40 43 45 48 5,0 1
D C8 ate vo . 0,0 0.7 1,3 19 24 28 32 35 38 4.1 43 48 1
ross reference the row for your own atirition 14 0,0 07 13 1,8 22 26 30 33 36 39 472 14
point loses against the column for your army BG 15 0,0 06 1,2 17 2.1 25 29 3.2 35 38 15
size = Points gained (G) 6 00 0,6 1,1 1,6 20 24 27 30 33 1
ross reference the row for opponents attrition | 47 0,0 06 1,1 15 19 23 26 29 17
point losses against the column for their army BG 18 0,0 05 10 1.4 1,8 22 25 18
size = Points Lost (L) 19 0,0 05 1,0 14 17 2,1 19
(3) add a Bonus for breaking opponents army but | 20 0,0 05 09 1.3 1.7
ot losing your own: +5 21 00 | 05 ] 09 [ 13 | 2
Total Score 10+(G)-(L) +Bonus | 22 00 | o4 | o8 | 22
Round to nearest whole number 23 0,0 0.4 23
NB. [fdifference ends in .5 then round up if score is over 10 = - . _ . L - e li
down i score s below 10 13 14 15 16 17 18 19 20 21 22 23 24



